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Seat No.: ________                                                           Enrolment No.___________ 

GUJARAT TECHNOLOGICAL UNIVERSITY 
Diploma Engineering - SEMESTER–III • EXAMINATION – SUMMER 2013 

Subject Code: 335003 Date: 11-06-2013        
Subject Name: Architectural Drawing - III 
Time: 02:30 pm - 05:00 pm Total Marks: 70 
Instructions: 

1. Attempt all questions.  
2. Make suitable assumptions wherever necessary. 
3. Figures to the right indicate full marks.  
4. English version is considered to be Authentic. 

Q.1 (a) Draw the perspective view of a pentagonal prism, lying on the ground plane 
on one of its rectangular faces. The axis being inclined at 30˚ to the picture 
plane, and a corner of the base touching the picture plane. The station point 
is 65mm in front of the picture plane, and lies in a central plane which 
bisects the axis. The horizon is at the level of the top edge of the prism. 

14 

Q.2 (a) Show the graphical representation of the following materials- 
Brick wall in section, water in pond, timber, concrete in section, palm tree 
in elevation, plywood 

07 

 (b) A cone diameter of base 55mm and height 60mm is resting on HP on one 
of its generators with axis parallel to V.P draw the projections of cone. 

07 

  OR  
 (b) A square pyramid, side of base 30mm and height 45mm, is resting on HP 

on one of the edges of the base with axis parallel to HP and V.P both, draw 
the projections of the pyramid. 

07 

Q.3  A cylinder, diameter of base 60mm and height 70mm, is having a point of 
its periphery of base in VP with axis of cylinder inclined to VP by 45˚ and 
parallel to HP. 

 

 (a) Draw the top view in HP. 07 
 (b) Draw the front view in VP 07 
  OR  

Q.3  A square prism, side of base 40mm and height 50mm, is resting on HP on 
its base with all vertical faces equally inclined to VP. It is cut by a vertical 
section plane parallel to and away from VP and remaining 10mm away 
from the axis of the prism. 

 

 (a) Draw the top view in HP. 07 
  (b)   Draw the front view in VP 07 

Q.4  A hexagonal prism is resting on HP on its base with two edges of base 
parallel to VP. It is cut by a section plane perpendicular VP and inclined to 
HP by 45˚ passing through a point of axis 40mm above the base. Take side 
of base 25mm and height 50mm .. 

 

 (a) Draw projections of the prism 07 
 (b) Find the true shape of the section  07 
   OR  

Q. 4  A cylinder is resting on HP on its base. It is cut by A vertical section plane 
perpendicular to HP inclined to VP by 45˚ and cutting it remaining 12mm 
away from the axis. Take diameter of cylinder 55mm and height 60mm. 

 

 (a) Draw projections of the prism 07 
 (b) Find the true shape of the section  07 
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Q.5         A triangular prism is resting on HP on its base with one of the rectangular 

faces perpendicular to VP. Two parallel cutting planes perpendicular to VP 
and inclined to HP by 30˚ are cutting the prism one passing through the 
edge of the top side and another passing through the corner of the bottom 
base. Draw the development of lateral surfaces of the portion of prism 
between two cutting planes. Take edge of base 45mm and height of prism 
65mm. 

14 

  OR  
Q.5 (a) Draw the development of lateral surface of the cylinder having a square 

hole in it as shown in fig -A 
07 

 (b) Draw the development of lateral surface of the part P of the hexagonal 
pyramid shown in fig – B 

07 

************ 
                                                                                                                                                                                        

Q.1 (a) એક પચંકોણ િ̆ͪમ, તેના એક લબંચોરસ બાȩુએ જમીન ઉપર પડ°લ છે. િ̆ઝમ ની 

ધર� િપƈચર Ɯલેન સાથે 30˚ નો ȣણુો બનાવે છે અને પાયાનો એક ȣણુો િપƈચર 

Ɯલેનને અડ° છે. ƨટ°શન પોӗટ િપƈચર Ɯલેન ની 65મી.મી. આગળ છે અને સҪͽલ Ɯલેન 

એવી ર�તે છે ક° Ȑથી ધર� બે સરખા ભાગે ƥહҰચાય છે. આ િ̆ઝમ નો પƨપ±ƈટ�વ ƥȻ ુ

દોરો. �ëિતજ લેવલ િ̆ઝમ ના ટોચ લેવલ પર આવેલ છે.  

14

Q.2 (a) ˴ા�ફકલ ર�તે નીચેના મટ�ર�યલ ͯશાવҴ
- ӗͫની �દવાલ સેƈશનમા,ં તળાવમા ંપાણી, 

લાકȮુ,ં કҭ˲�ટ,  ખȩુરȵુ ંɂëૃ એલીવેશનમા,ં Ɯલાયɂડુ,  

07

 (b) એક શȢું પાયાનો ƥયાસ 55મી.મી. અને ધર�ની લબંાઈ 60મી.મી છે. તે આડ� સપાટ� 

ને સમાતંર રહ° એ ર�તે પડ°લ છે. શȢુંના ̆ોȐકશન દોરો. 

07
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  OR 
 (b) એક ચોરસ િપરામીડ પાયાની બાȩુ 30મી.મી અને Әચાઈ 45મી.મી તેના પાયા ની એક 

બાȩુએ છે. તે આડ� સપાટ� પર પડ°લ છે. તેની ધર� HP તથા V.P બđેને સમાતંર છે. 

આ િપરામીͭના ̆ોȐƈશન દોરો.  

07

Q.3  એક નળાકાર ƥયાસ 60મી.મી તથા લબંાઈ 70મી.મી છે. તે જમીન પર પડ°લ છે. તેની 

ધર� આડ� સપાટ� તથા ઉભી સપાટ� સાથે 30˚ નો ȣણુો બનાવે છે.  
 (a) ઉપરનો દ°ખાવ HP મા ંદોરો. 07

 (b) સામેનો દ°ખાવ VP મા ંદોરો. 
  OR 07

Q.3  એક ચોરસ િ̆ઝમ ના પાયાની બાȩુ 40મી.મી. Әચાઈ 50મી.મી. છે. તેની આડ� 

સપાટ� પર એના બધી ઉભી બાȩુ VP સાથે સમાન ȣણુો બનાવે છે. એક ઉભી છેદ�ય 

સપાટ� VP ને સમાતંર અને ધર�થી 10મી.મી ȳુર િ̆ઝમને કાપે છે.  
 (a) ઉપરનો દ°ખાવ HP મા ંદોરો. 07

  (b)   સામેનો દ°ખાવ VP મા ંદોરો 07

Q.4  એક ષͫકોણીય િ̆ઝમ આડ� સપાટ� પર પડ°લ છે. એના પાયાની બે બાȩુ VPને 

સમાતંર છે. એક છેદ�ય સપાટ� VPને કાͫȣણેુ તથા HP સાથ ે45˚નો ȣણુો બનાવતા 

એની ધર�માથંી પાયાની 40મી.મી ઉપર પસાર થાય છે. પાયાની બાȩુȵુ ં માપ 

25મી.મી અને Әચાઈ 50મીમી છે.   
 (a) િ̆ઝમȵુ ં̆ોȐƈશȵ ્દોરો. 07

 (b) કપાયેલા ભાȤ ્નો સાચો આકાર દોરો.   07

   OR 
Q. 4  એક નળાકાર આડ� સપાટ� પર પડ°લ છે. એક છેદ�ય સપાટ� HP ને કાટȣણેુ તથા VP 

સાથે 45˚ બનાવતા ં તેને ધર�થી 12મી.મી ȳુર કાપે છે. નળાકાર નો ƥયાસ 55મી.મી. 

Әચાઈ 60મી.મી છે.  
 (a) નળાકારȵુ ં ̆ોȐƈશȵ ્દોરો. 07

 (b) કપાયેલા ભાȤ ્નો સાચો આકાર દોરો.   07

Q.5     એક િ́કોણીય િ̆ઝમ HP પર પડ°લ છે. તેની એક લબંચોરસ બાȩુ VP સાથે કાͫȣણેુ 

છે. બે સમાતંર છેદ�ય સપાટ�ઓ VP ને કાͫȣણેુ તથા HP સાથે 30˚ ȣણુો  બનાવે છે. 

એક છેદ�ય સપાટ� ઉપરની બાȩુની ધારથી અને બીĥ નીચેના પાયાના ȣણુામાથંી 

પસાર થાય છે. િ̆ઝમના છેદ�ય સપાટ�ની વƍચે ના ભાગȵુ ં િવƨતરણ કરો. પાયાની 

બાȩુ 45મીમી અને Әચાઈ 65મીમી છે.  

14

  OR 
Q.5 (a) આકિત� - A મા ંદશાવ±લ નળાકારની સપાટ�ȵુ ંિવƨતરણ દોરો. નળાકારની Ӕદર ચોરસ 

ભાગ કપાયેલ છે. 

07

 (b) આકિત� - B મા ંદશાવ±લ ષͫકો�ણય િપરામીડ ના ભાગ P ȵુ ંસપાટ�ȵુ ંિવƨતરણ દોરો. 07

    
 

************ 
 


